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books that Jessica can have? I 25
(A} 220 1. 36
(B) 210 HI. 45
(©) 205 {A) Tonly
(D) 200 (B) W only
(C) I only
9. What is the largest integer, n, that satisfies the (D) 11 and Il only
inequality n2 + 8n-3 < n?+7n+ 82
(A} 5 14. What is the average of 4y + 3 and 2y - 1?
B) 7 m] ii.’-l— 1
©n B 3y+z

(D) 11 (Y By 2




18. For what value of xis 82 % = 162 Grid=-in Questions
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(B) 4 how many times is the digit 1 used?
(@6
(D)8

19, On a certain Russian-American cominittee, 2

‘ of the memhets areroen_and 3’_. of the men,
f——




23. In the figure below, the area of circle Ois 12. 25. How many integers between 1 and 1000 are

What is the area of the shaded sector? the product of iwo consecutive integers?
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